Q1.

1,987 -1,000 =

Q2.

16 + 1,000 + 1,000 =

Q3.

18+9+9=

Q4.

317 - 180 =

Q5.

451+116=

Q6.

Five children share a bag of cherries. | ./ |

Each child gets 6 cherries. lﬁ.

There are 3 cherries left over.

How many cherries were in the bag altogether?




Q7.

In the high jump, Vijay jumped 96cm __ﬁ’fr
on his first try. @?,

He jumped 1m 15¢m on his second try.

How much higher did he jump on his second try?
Q8.

cm

Dan says, I choose a number.
I multiply it by 3
Then I subtract 9
My answer is 15’

What number did Dan choose?

Q9.

Here are some signs.| = X =

Drag two of the signs to make this correct.

104 4 26

Q10.
On a school trip, 56 people visit the zoo.

23 are girls.

N

21 are boys.

5 are teachers.

The rest are parents.

How many are parents?




